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mJ¶Jan%l  1.1
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3 .  oJI4uu~a~,do~~~~~~~~~n~~~~~~~oJ~~l~*l~~~~

3 . 1 )  A  ’ =  {1,2,3,4,5}

3.2) B = { 1,4,9,16,25}

3.3) c = {1,4,9  ,...  }

3 . 4 )  D  =  {iik@~J,  &n-J, iikh}

3 . 5 )  E  =  {2,4,6,8,10  ,... }

3.6) F = {3,6,9,12  ,...  }

3 . 7 )  G =  {1,2,3,4,5  ,...  }

3.8) H  =  {ammu,  dwnu,  wqbJl1clu,  nanginu,  kIHlmJ,  qmw,

cmnJ}

3.9) J = {2,  -2)

4.1)

4.2)

4.3)

4.4)

4.5)

4.6)

4.7)

4.8)

4.9)

4.10)

4.11)

4.12)
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Lwqr-m

8.1) 1 E A,

8 . 2 )  2  EA

8.3~)  {2}  E A

8.41)  (1) e A

8.1;)  3 B A

8 . 6 )  3 E A

8 . 7 )  {3}  EA

8.8) (3) B A

8.9)  {2,3}  E A

8.110) {2,3}  BA
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(1)AcA (2)ArB (3)AcC ( 4 )  AGD

(5)  B $ A (6)  B $ B (7)  B JZ  C (8)  B 4i  D

(9) C $A (IO)  C c&B  (11) C G C (12) C C D

(13) D ‘$  A (14) D $L B (15) D $  C (16) D C D

ih%l 1.2.2 hi%k’bCW  A bbRtl&l  B %Gl  7 XtldlTk L.&l  A LhLhdOUUw”  (pro-

per subset) 9109  B n”d0d0  A E B LLRZ  A # B Lh.bLLYlU~7~iaer  A c B

.:a
UU~OAcBnC~OLBOA~BLLFI=A#B

&Qeil;rLh  A = {1,3,5},  B = {1,2,3,4,5}  Bt%-h  A c B Lh?h
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n"adN~ 1.2.3 $11  A = {1,2,3)  LLOE R 5 {2,3,1}

Bl”aOtil~~  1 . 2 . 5  !%?A  =  {1,2,3}  &At  B  =  {3,1,2}

~,rb?h  A  =  B

$‘Jdld  1.2.6 a$  C = {1,2,3}  LbAf  D = {a,b,c}

Pt%?h  C # D

C’ihhd 1.2.7 IKE = {xix Lh6l7pl%h..  bb%  x’ -4 = 0) LbA:  F = (2, -2)

'X%-h  E = F
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&yaSdlS~  1 . 2 . 9  a$  K  =  {2,4.6,8,10} .

1 0

1)AcA

l)A=A

2) 8-i A = B I& B = A

3) $1 A = B bR: B = C db A = C
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m”adlS

al-T A = {1,2}

B = (1,2,%4)

blRE C  =  {1,2,3,4,5}

L'WW-dl  A c  B  LLR:  B  CC

dhXl%X-h  A C C 6-X
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P

I.  99~pi.~blbid7~~na78J~o%pJ~~n’vI~o~n

1.1) { a, b, c } = { n, ?I,  FI  )

1.2) { a, b, c ) = { c, b, a ]

1.3) { a, b, c } = { abc }

I .4)  ( 0 } = { 0 }

1.5) { 0 } = 0

1.6) { 0 } =  0

1.7) { 0 } c  0

1.8) 0 = 0

1.9) 1 c { 1 }

1.10) { 1 } c  1

1.11) { 1  } c { 11 1)

1.12) { I } c { 1 }

1.13) { 1 } E { 1 }

1.14) { { 1  I 1 =  { 1  1

1.15) la c { { 1 } }

1.16j  0c { 1 }

1.17) 0c 1

1.18) 1 E ( { 1 } )

1.19) { 1 ) E { { 1 1 1

1 .Z!O)  1 E. { 1 }

lL!l)  0 E0

1.22) 0 c 0

1.23) 5 E { xIx Zhh-m.u~uuan  LLR~  ~2 - x - 20 = 0 }

1.24) { 2, 4 } c  { xix &&uat.db$  }
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1.25) { 1.3,s  } 0  { X/Y  r%.uiiuau&u  }

1 . 2 6 )  { I, [2],  3  } c  { YIY dea~iuaua&Juan  )

1.27) ( 1  } c { XIX Lhh4awhJ  LLR: 2x’  - Y - 3  = 0  }

I.281 0 ,- 0

1.29) 0 c 0

1.30) 0 $0

2. K%lC  .1 { 1.2, { 3 ), { 2,3 } } da &naweiokJdgm”safta

2.1) ( 3 } c rz

2.2) ( ) 3 } } c A

2.3) 3 c 4
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73)  T = { x/x = 1, 0, 1  }

u =  (-l,O,l}

v = (1, 1, -l,O,  -1 }

w =  { I ,  -l,l,  -I}

x = { XIX dwhau& uat ~16 1 }

Y = { XIX $lu-ihPaaPradaman  mt  ~2  < 1 }

z = { XIX C.lsaCuaGiu  bmt  0 <X < 2 }
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uwh.in~l 3 &I B = { -1, 0, 1, 2 }
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U

B

0 0 A

0

0 c

D

L
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2 0

U

‘-_\

U
B

A

0

$d 1.3.3
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ibh3ii  1.8.6 ?-~Mu@I~~  A = { 1, 2, 3, 4, 5 } LbRE  B = { 2, 4 }

U
A

B

1 2

,c1>’

0
3 4

5

9l.l 1.3.4

MA 104 (S)
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1.4 fWS%h~l%  (operation) W&h

1) erawnn (union) Wbwih

&hil~~ 1.4.1 1; A =. 0, 1, 2, 3, 4 hht?f{ ) R = { 2, 4, 6, 7 1

dt%lAUB= {0,1,2,3,4,6,7}  = BUA

(CXkVd"Pdil  A C (A U B) LLWt 13 C [A U i,)

n"aSeild 1.4.2 1; A = 1, 3, 5 LLGJ: B ={ } ( 2, 4 }

d?h A U B = 1, 2, 3, 4, 5{ }

n"aOPiN~ 1.4.3 ax A = 1, 2, 3 LLR: B L( } { 1, 2, 3, 4, 5 }

Pt%&il A U B = 1, 2, 3, 4, 5( }

('il,L~W-l~!,~Udl  A C B LLW" A U H B)

Ghi3fh~~ 1.4.4 1; A = { XIX L.kkX-U~ti  } LLRt B = { 1, 2 >

X~-,~&-il  A U B = A

ihiaefhdi 1.4.5 %I? A = - Sx -I-  6 = 0( x1x2 } Lb% B = { x1x' - 4 = 0 }

Pt!& A U -2, 2. 3B.= { )
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&dl~~ 1.4.7 a%? A = { 0, 1. 2, 3, 4 } LL8: B = { 2, 4, 6, 7 }

9-,!6il  A fl B = { 2, 4 } = B f- A

@Xhln6<Uil  (A n  B) t A LLW”  (A f’ B) c H)

m"aQeiNi! 1.4.8 %<A = { 1, 3, 5 } LIB” B = { 2, 4 }

?I:%;,  A f’ B = 0

m"aQpiNii 1.4.9 a$ A = { 1, 2, 3 } LLA” B = { 1, 2, 3, 4, 5 )

‘C%‘dlAf-,B= { l,2,3)

(Pct?.Un$l6h+  A c B blat A  f-!  B = A)

iTad&  1.4.10 a%?  A  = ( x(x 6?h.4~1~2U6~~  } &AZ  B  =  { 1 ,  2  }

Pt%il  A n  B = { 1, 2 ]

9Yaiaeei~s~ 1.4.11 a$A  = {x(x2  - 5x + 6 = 0 } LLi9t B = { x/x' - 4 = 0 }

d6-h A i'l  B = { 2 }

&&Y~ 1.4.12 !$A = { 1.2  } LLA: 0 %I l&V-hJ

d&l  A fl0 = 0,LLRt  A flA = ( 1,2 ) = A
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(3) iaoaab%am”u  (complement) WNdVl

&-@-ll.Hi?  i%, A‘, x, C(A) LbYlPd  A’ I

~a”aeFhi  1.4.13 a$U = 8 A ={ 1, 2, 3, 4, 5, 6, 7, }, { 2, 4, 8 ll~6>

B = ( 4, 6, 7, 8.)

9t%-h  A’ = 7 blGJZ  B’ = 5{ 1, 3, 5, 6, ) { 1,  2, 3, }

n”aehii  1.4.14 %ss” u  =  { XIX s~Pdb1uaur5u }

blat  B  = { x/x L?h&wk%%T<~~ti  2  W%  >

a-9&h  B ’  =  { x/x sfipa~7psataLm”aJdes?~K~fJ  2  laias&  }

m”aadd  1.4.15 1%  U  =  { 1,2,3,4},A=  (2,4),

kaz B = { 2, 3, 4 }

%!%I B’ = { 1 } blat  A’ = { 1, 3 }

&l%WWl 7:bhh 6%  A c B L&J  B’ c A ’

pl”aodiS~ 1.4.18 194”  U =’ 5 A = 4 LLRI{ 1, 2, 3, 4, ), { 1, } B = { 2, 3, 4 }

9flGiAf1~  = (4)  &-&(A~IB)~  = { 1,2,3,5}

L6a.Z A ’  ={ 2, 3, 5 }, B’ = ( 1, 5.)  &th  A’ U B’ = { 1, 2, 3, 5 }

‘ha’s6flPl 5l3%%4~1  (A fl B)’ = Al.  U B’
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m"aFIeiN~ 1.4.17 !{A  = ( 0, 1 , 2, 3, 4 >, LLRt B = { 2, 4, 6, 8 }

XI%%‘1  A  - B  =  ‘{ 0, 1 , 3 }

blRt  B - A = { 6, 8 >

&iWWl 'iXLP;;Mh  A - B # B - A

m"aed,a~ 1.4.18 19s’C = ( 1 , 3, 5 } LLR: D = { 2, 4, 6 >

9Zb%l  C  - D  =  ( 1,3,5 } =  C

D - C = { 2,4,6  } = D

u’&hVl W49"U-h  $1 C UD  = 0 M?d  C - D = C

LLAE D - C = D

VhV-il4~ 1.4..L9 199" E = { 1, 2, 3 } LLA”  F = { 1, 2, 3, 4, 5 }

SlC~%h  E - F = 0 LLRt  F - E = { 4, 5 }

M A  1 0 4  (S) 2 7



,
A

yfl 1.4.1

jd  1.4.2
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( A U B  = B )

&;nJ  1.4.3

U

.

yd 1.4.4

MA 104 (s)

;d 1.4.5
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U

0A

0B

pl 1.4.6

0
U

B

Q

A

3 0

yd  4.4.8
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(A ~ B = A)

&isg¶J  1.4.11

MA 104 (s)



'd&h AITB = {2,4)

AnC  =  ( 2 )

BnC  = (2,6}

A u B = { 1, 2, 3, 4, 5, 6 >

A U C = { 1 , 2, 3, 4 , 6, 8 >

B UC = ( 2, 4, 5 , 6, 8 }

A - B  =  {1,3}

B - A  =  (5,6}

A - C  =  {l,3,4}

C - A  =  {6,8}

B - C  =  (4,5}

C - B  =  {S}

32 MA 104 ts)



(AnB)-C  = (4)

A - ( B - C )  =  {1,2,3}

(A fI B) r‘l  C = (2)  =An(BnC)

(A n B) U C = { 2, 4, 6, 8 } = (A U C)  f- (B U C)

A n (B U C) = { 2, 4 } = (A n B) U (A fl C)

(AUB)’ = { 7, 8 } = A’ fl B’
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C

ZlJ 1.4.15

:’ a = 5 LW a + b = 25 &I&b  = 20

‘: a+c=20C.&bc=15

‘: a + d = 15 &t.?U d = 10

:’ a + b + d + e = 80 &EU e = 80 - (20 + 5 + 10) = 45

:’ a + b + c + f = 65 &$U  f = 65 - (20 + 5 + 15) = 25

:’ a + c + d + g = 55 g.Ti?U  g = 55 ‘- (10 + 5 + 15) = 25

&lk4  xGPh
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1.4.16

B
20 --x

x 3

@

2

26-X 5 IO

A
C

L

yd 1.4.16
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?tb%h  10 + 5 + 2 + 3’+ x + 26 - x + 20 - x = ‘60
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1.7) A IJ (B fl C)

1.8) (A fl B) U C

1.9) A - B

1.10) C ~ A

1.11) C’

1.12) C’ - B

1.13) (A fl B) - C

1.14) (A fl B)’ - C

1.15) C - (A n  B)

: .

1. iil?TA~th? U = { 1 , 2, 3.4, 5, 6, 7, 8, 9 } LLat%ps”  A = { 1 , 3, 6, 9 }, B = ( 1.4, 8 }

1.1) Af-?B 1.16) (A - B) - C

1.2) B fI C 1.17) (A n B) n c

1.3) A IJ B 1.18) @UC

1.4) B tJ C 1.19) 0n  c.
1.5) A 17 (B U C) 1.20) (B - A) U C’

1.6) (AnB)U(AfIC) 1.21) c - %

1.22) (B U C)’  - A

1.23) (A n  B) - B

1.24) A n  (B n C)

1.25) Bn(AnC)

1.26) B - C

1.27) B fl C’

1.28) A - B

1.29) A f~  B’

1.30) B’ fl B

MA 104 (S) 3 7



2.1) A fl A, A

2.2) A U A, A

2.3) A U B, B U A

2.4) A n B, B n A

2.5) A &(B  fl C), (A fl B) n C

2.6) A U (B U C), (A U B) U C

2.7) k n (B U C), (A r-l  B) U (A fl C)

2.8) A U (B n C), (A U B)  n (A u c)

2.9) (A‘U B)‘,  A’ fl B’

2.10) (A fl B)‘, A’ U B’

2.11) A n B’, A - B

2.12) A U 0, A

2.13) A rl 0, 0

2 . 1 4 )  AnU,U

2.15) A f-l U, A

2.16)  U’ ,  0

2.17) O’,  U  ,

2 . 1 8 )  A U A ’ , U

2.19) A fl A’, 0

2.20) A - B, B’ - A’

2.21) (A’)‘ ,  A

3 8 MA 104 '(S)



3. 61 A C B ‘hi A~#B  L&I &&ikIbJjfl, &lblih

3.1) A r-l B = B

3.2) A fl B = A

3.3) A U B = B

3.4) A U B = A

3.5) A - B = 0,

3.6) B - A = 0

3.7) A - B # 0

3.8) A n B # B

3.9) A U B #A

3.10) B - A # 0

4 .  fhWR1~,4  =  (1,2,{3},{2,3}},  B  =  {1,{2},3]  LLaf  C  = (2)
Y

99~aiasrai~ldolnlQ~~~~~n~~~~~~~~~~
4 . 1 )  2E AnB 4.6) 0 E C - C

4.2) 2 15 A fI  C 4.7) 3 E (A U B) U C I

4.3) { 2 } ~2 A n c 4.8) 3 E (A n C) U B

4.4) 2 E A - B 4.9) { 2 } E C - (A f-l B)

4.5) { 3 } E A U B 4.10) 2 E C - (A r-I  B)

MZt.  1 0 4  (S) 39



9.1) A - (B n C)

9.2) (A fl B) U C’

9.3) (A rl B’) - C

9.4) ((A - B)’ n C)’

9.5) (A U B)’ n C’

4 0
M A  1 0 4  (S)



10.1) B - A

10.2) A’ U B

10.3) B’ n A

10.4) B’ n A ’

10.5) B’ - A ’

11. !;A,  B, C LiIlUl401i!rj~dL<mi75  ~J~iuu~~Hun7w~~a~~~~7r~?~~~~~~

RlMPrmlns’nSsvio~lJ~

1 1 . 1 )  AcC,BcC,AnB  = 0

11 .2 )  AcB,A#B,BnC#B

1 1 . 3 )  A c C , B  aC,Ar-lB#0

1 1 . 4 )  Ac(BnC),B  cC,C#B,A#C

1 1 . 5 )  AcEl,CcB,A-C  = 0

MA 104 (S) 4 1



’ 1 2 . 1 )  F =  M  n(AUC)

12.2) G = W fl (B U (C U D))

12.3) H = (M U W) n  (A U E)

12.4) K = M n (D’ n  B’)

4 2 MA 104 (S)
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Vltjf4$JTl  1.5.1 th~U%l  A bKC  B kl 9 PZ%%l

1) A G A U B kit  B CA U B

2 )  Ar-IB A LLB: AnBCB

~a”aefha  1.5.1

1tY A  =  {1,2,3}

B = { 2, 3, 4, 5 }

’ :.A U B = (,l, 2, 3, 4, 5 }

Wp;ipl-h  A C A U B LLLX  B C A U B . . . . . . . . . . . . . . . (1)

LbRt AnB  = {2,3}

&ikL%%dl  A f-l B c A LLRE  A f-l B G B . . . . . . . . . . . (2)

?l#$JVl  1.5.2 dlMa"Y& A LlRt  B kl 9 d%l.

1) A c B %idEl  A U B = B

2) A c B ?%idO  A f-l B = A

9Yaiw.h  1.5.2

, , IIT A  =  {2,3}

LLRZ B = { 2, 3, 4, 5 )

49  A C B

L4lWzl-h  A U B = { 2, 3,4,  5 }

Wp;iUk  A U B = B . . . . . . . . . . (1)

LL%  An B = { 2, 3 }

&iiWh~l A  fl B  =  A . . . . . (2)

4 4 MA 104 tS)



?l’+j¶J?l  1 . 5 . 3  ilM%hl  A  LLAt  B  h “) 9t!;-h

1) A U (A Cl B) = A

2) A r-I  (AU B) = A

6aiash  1.5.3

11s A  =  { 1,2,3,}

LLlPe B = { 2, 3, 4, 5 }

. . AnB  = {2,3}’

‘:AU(AnB)  = { 1,2,3}

5l::L%.til  A U (A n B) = A ( 1 )

LLIE :’ A U B = { 1, 2, 3, 4, 5 )

:. A fl (A U B) = { 1, 2, 3, }

6hhXh-h A fl (A U B )  =  A . . . . . . . . . . (2)

Vlt)‘M$lVl  1.5.4 h&E&l  A 1%  “) Ptb%l

(A’ )’ = A

vYam.ha  11.5.4

Iii u = { 1, 2, 3, 4, 5 )

bllit: A  =  {1,2,3 }

. . A’ = l4.51

:. (A’  )’ = {1,2,3}

W%h(A ) ’  =  A

?lt$&l  1.5.5 ilt6JPihl  A LLA:  B 161  “I  Btkh

1) (A U B)’ = A’ n B’

2) (An B)’ = A’ U B’

MA 104 (S) 4 5



U = { 1 , 2, 3, 4, 5 , 6 )

A = { 1;2,3 )

LLAE B = { 2,3,4  }.

‘:  A U B  =  {1,2,3,4}

:. (A U B)’ = { 5, 6 }

LLRZ A’ = { 4, 5, 6

B’ = { 1 , 5, 6

:. A ’  r-7 B’ = (5,  6)

WM*Wh (A U B)‘=A’  rl I3’

LLW:  A il B = (2, 3)  I

:. (A n 3)’ = { 1, 4, 5, 6 )

LLRL A’ U B’ = { 1, 4 , 5, 6 1

&n”whil  (A n B)’ = A’ U B’

W&J?l  1.5.6 &Mh&l  A, B LEE  C -h 7 PC!‘%1

1 )  A U A = A

2 )  A n A = A

3 )  A U B = B U A

4 )  AnB=BnA

5) A U (B U C) = (A U B) U C

6) A n (B n C) = (A n B) n C

7) An (B U C) = (An B) U (An C)

8) AU (B n C) = (AU B) n (AU C)

.......... (1)

............ (2) I
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Bl”aaedis  1 . 5 .8

1; A  =  ( 1 . 2 )

16 = {2,3,4}

. c., = { 2, 4, 6, 8 }

9~w2

‘: AUA={l,2}

Bth%A-h A U A = A . . . . . . . . . . . . . (1)

‘: AnA  = {1,2}

WP959A-h AnA  =  A . . . . . . . . . . . . (2)

‘: A U B  =  {1,2,3,4}

LhA B  U  A  =  { 1,2,3,4}

W%A-dl A U B  =  B U A . . . . . . . . . . . (3)

‘: An B = { 2)

bbR: BnA  = (2)

9’obt%&il AnB=BnA . . . . . . . . . . . (4)

‘: (B U C) = { 2, 3, 4, 6, 8 }

A U  ( B  U  C )  =  { 1,2,3,4,6,8}.

bhAZ A U B = { 1,2,3,4 }

’. . (A U B) U 57 = { 1, 2, 3, 4, 6, 8 }’

?W%b% A U (B U C) = (A U B) U C . . . . . . . . . . . (5)

‘: BnC  = {2,4}

:. Af-I(BnC)  = (2)

bhRt AfIB  = (2)

.. . (A n B) n c = { 2 }

MA 104 (s)
4 7



93lh-h  A n (B n C) = (A n B) n C

:’ B U C = { 2, 3, 4, 6, 8 }

:. A n (B U C)  = { 2 }

LLRE AnB  =,{2}

Ant  = {2}

:.(An B ) U  ( A n  C )  =  (2)

hXh~1 A n (B U C) = (A n B) U (A n C) . . . . . . . . . . (7)

:’ B n c = { 2, 4 }

:. A U (B n C) = { 1, 2, 4 }

LLB:: A U  B  =  { 1,2,3,4}

A U C = { 1, 2, 4, 6, 8 }

:. (A U B) n (A U C) = { 1, 2, 4 }

~~Whil  A U (B n C) = (A U B) n (A U C) . . . . . . . . . . . (8)

?l't&$Wl 1..5.7  thH?Uthl A bl 9 9:b%l

1) AUO=A

2) AnPI=  0

3 )  A U U = U

4 )  AnU=A

5) U'=0

6) 0’=U

7) AUK = U

8) AnA’  = 0
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c;l”aaseiis  1 . 5 . 7

‘It? U  =  { 1,2,3,4,5}

A  =  { 1,3,5}

~3Z9Eh

A U  0= { 1,395)

9:Lp4clh AU0=A . . . . . . . . . . (1)

bla: An0= 0 . . . . . . . . . . . (2)

A U U = { 1, 2, 3, 4, 5 )

WWJI AUU=U . . . . . . . . . . . (3)

LLGlZ A f’ U = { 1,3, 5 }

Wh-dl Af-IU=A . . . . . . . . . . . (4)

LLRt U’ = 0 . . . . . . . . . . . (5)

0’ = { 1,  2, 3, 4, 5 I

Whdl 0 ’ = u . . . . . . . . . . . (6)

‘: A ’ = {2,4)

:. A V A’ = { 1, 2, 3, 4, 5 I

$t~hdl  A.U  A ' = u . . . . . . . . . . . (7)

L&x AC-l  A ’ = 0 . . . . . . . . . . . (8)

?l$%@J?l  1 . 5 . 8  a<A  bbRZ  B  I~u~~sleio~uos~on~~~~~~~  U

Ptb%l  A - B  =  AfIB’

iYa”ash  1.5.8

9lT u = { 1, 2, 3,4,  5 )

A  =  (1,2,4}

B = { 3,4,5  }

M A  1 0 4  (s) 4 9



‘ A - B. . = {1,2}

LLat B’ = { 1.2)

:. AflB’  = {IJ}

&dUh A - B  = AnB’

&“aePild  1 . 5 . 9  %$A,  B  bbFlt  C  LhL&i 4.I A  fl B  =  A  n C

LLRt  A  U  B  = A  U C  W%JPbTdlB  =  C

Gg0oa” B = B 1’3  (B U A) (‘.’ B C A U B)

= B f3  (A U C) (‘: A U B = A U C WlhMl~~)

= (B n A) U (B f’  C)

= (C f?  A) U (B  r-I  C)

= (C n A) U (C f?  B)
.

. =  C  fl ( A U  B)

=  C  Cl ( A U  C)

= c ;’

:. B = C

‘ihdl~  1.5.10 ““%$i;l  ( A  U  B )  - C  = ( A  - C )  U  ( B  - C )

(A U B) - C = (A U B) n C

=  (An C ’  ) U  (BIT  C ’  )

= (A - C) U (B - ‘2)

:. (A U B) - C = (A - C) U (B - ‘2)
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‘: A  n B

(A n B)’

A’ U B’

A n (A’ U B’)

( A n  A ’  ) U  ( A n  B ’  )

0U(AnB’)

A n  B ’

A - B

= 0

= 0’

= u

= Anu

= A

= A

= A

= A

1 )  IPJ+i%A  n B’= 0 Whi?@il  A  C_  B

8in A n  B’ = 0

:.(AnB’)UB  = 0U  B

(AUB)n(B’UB)  =  B

(AUB)nU  =  B

AUB = B

:. A L B
,t

R9Ul.4  n”7.4  n B’ = 0b&dA~B

2 )  FW$l%Ps”A  c B  W%ly3i$I%l  A  n B ’ = 0

9ln fi5  B Gl,\& A  n B  =  A

9lnAnB  =  A

M A  1 0 4  (S) 5 1



:.(A f-l B) fl B’ =  An B ’

An(BnB’)  = AfIB’

AnO  = AnB’

.0= AnB’

Qi&&t%  AGBLLtt-2  AflB’  = 0

8in  1) LLRZ 2 )  %M+7

All B ’ =  0  n”ddO  A  c B

5 2 M A  1 0 4  (S)



1) (A fl B) U C = (A U C) II  (B U C)

2) $1 A f’  C = 0 L&2  A f~  (B U C)  = A fl B

3) f!i?  A n B = 0 Lk%  A - B = A

4) A r-l (B -- C) = (A fl B) - C

5) A - (B U C) = (A - B) U (A - C)

6) A - (B n C) = (A - B) U (A - C)

7) $1 A U B = 0 aLi%  A = 0 ‘&XI  B = 0

8) i?l A B LLRZ C = B - A IL&  A = B - C

M A  1 0 4  (S) 5 3
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1.6 rwitae&ih  (power set)
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t$A  =  { 1 ,  2  } 5lZb%l P ( A )  =  (0, {l},  (21,  (1,  2)>

&dld  1.6.2

!w’B = {0} lICb%l P (B) = { 0, { O ,} = { 0, B )

Asd1sd  1.6.3

1;~: = 0 Btbi+h  P ( D )  =  { 0  }

bcm.h~  1.6.4

111”E  = { {1},{2,3},4} ’

%%%I P(E) = { 0 , {{ 1 }}, {{ 2, 3 1)  > (4 },(t 1 1, { 29 3 1).

({  1 }, 4 }>  ({  27  3 19  4 >. El

u’&‘smpj  &L&j  A &fuiQn  n $2 GG-h P(A) dhiin 2” 6i?

6hil~ 1.81.1

I%? A = {1,2}  .

B  =  {1,2,3}

44 .A c B LLdh

P(A) = { 0 , { 1 1,  { 2 1,  { 1,  2 1)

LLA:. P ( B ) = { 0 , { 1 }, { 2 }, { 3 1, { 1.  2 1, { 1, 3 19 { 2,  3 11

-{1,2,3)}

h&t% P(A) c P(B)

ngp+n  1.6.2  i+~~+ilIhlA  LEE B bI 9 P~~&il

P(A) fl P(B) = P(A fl B)

55MA 104 (S)



~aiaadls  1.8.2

29n’ A  =  {1,2,3}

B = {2,3,4}

PAL%1

p(A) zz { 0, ('1 }. { 2 1, { 3 }, { I, 2 19 { ', 3 1' { 2' 3J'

{ 1, 2, 3 11
p(B) = { 0, { 2 }, { 3 }, { 4 }, { 2t 3 19 { 2y 4 1' { 3'd I'

{ 2,3,4 ,I

.:p(,&)nP(B) = {0,{2+,{3)*i2,3}}

blfi:. AnB  = {2,31

:. P(A  nB) = {0,{21~{3~~~2~3~~

&qrr&h p(A)fT  P(B) = p(A 0 B)
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Vlt)P”$JVl  1.6.3 dlMa'ElL&l  A IbA”  B t!@l  “1 P'b%l

P(A) U P(B) c P(A U B)

t;iaefh  1.63

%1X A = {1,2}

B = (1,3}

XVI-h

WA) = ( 0, ( 1 ), { 2 1, { 1% 2 ,}

P(B) = { 0, { 1 ), { 3 1. { 1, 3 1)

:, P(A) UP(B) = { 0, { 1 }> { 2 1, { 3 1, { 1, 2 1, { 1, 3 ,}

L!At A U B  =  {1,2,3)

:. P(A  U B) = { 0, { 1 }, { 2 )> { 3 )> { 1, 2 }‘{ 1,  3 ), { 2. 3 )>

{ 1, 2, 3 ,}

7tb&,b+  P(A) LJ  P(B) c P(A U B)
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UulJJn~~ 1.6

I .  ~~*ILwIL~~SLB~~~JLB~~~~~~  ws’ou~~Yon~~i?uilfa~l~n~~l~~
*

1 . 1 )  A = {1,-l}

1.2)  B  _,= (ILL) 1

1.3) c ‘= { { 1 I. i 1,2 11

1.4) D = I01

1.5) E = { 0, 0,  1 1

1.6) F = { 1,  2, 3, 4 1

2.fSiA  =  {1,2}MFCB =  {2,3}PJHl

2.1) P(A)

2.2) P(B)

2.3) P(A) U P(B)

2.4) P(A U B)

2.5) P(A) tl P(B)

2.6) P(A rl  B)
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2) G

3) c3

“4) c,

5) G

6) G

7) CT

8) Cs

9) c9

10) CKI

11)  c,,

12) Cl?!

13)  c,:,

14)  CM

15)  Cl!,

= ii l, 2  1, (2. 4  }, 14~5  ) } ~~khhtlh&J~J  A

twaxh {3.4)n{4,5)+0

= I{ 1, 2}, { 3 }, { 4, 5 },  0 } bhh~~tttiJ~Ull~J  A

twa1r11  0 E c1

= {{ 1 }, { 2, 3 }, { 3 }}  b.hh~~tt~J~UW~J  A

LWX-h 1 U 3 U 4 #A{ } { 2, } { }

= ({ 1 }, 2, { 3, 4, 5 }}  b.+h~~ttdJ~UY~J  A

LWJI::  il2  b.%dt~~d~~ll~J  A

= {{ 1, 2, 3 }, {{ 4 }},  { 5 }}  ~d~ta”@lttlh~UUOJ  A

LW5l:~l  ({  4  }) bJ?dta”dOLlW  A

= {{ 1 }, { 2  }, { 3  }, { 4  }. { 5  }}  tilUt4WttLiJfUslOJ A

= {{ 1 }, { 2, 3, 4 }, { 5 }} tht~VlttliJ~UUOJ  A

= { (1, 2, }, { 3 }, { 4, 5 }}  tilUt~olttliJ8UslOJ  A

= {{ 1, 2, 3 }, { 4 }, { 5 }}  LilUt~VlttrjJ~UV~J  A

= {{ 1, 2, 3 }. { 4, 5 }}  L~Ut~~ttriJ~Ull~J  A

= {{ 1, 2, 3, 4 }, { 5  }} t8Ut~RttLiJ~U%~J  A

= {{ 1, 2 }, { 3, 4 }, { 5 I} ththlh~UY~J  A

= {{ 1, 2 ), { 3, 4, 5 }}  Lht~~ttiJ~UVflJ  A

= {{ 1, 5 }, { 2, 4 }, { 3 }}  th~~ttl.iJ~U~~J  A

MA 104 (S) 5 9



16) Cm = {{ 2, 3 }, { 5 }, { 1, 4 }} L%&?ltteiS~UllOJ  A

6 0 MA 104 (S)



1. lT?A = { a.,  b, c,  d, e,  f, g  } W%Tl~~a7i7L~fi~~~~~  6hWihbLEi~~~‘1109  A

M~Q1sjLW51LLM~lm

1.1) {{ a, c,  e 1, { b I, { d,  g  I}

1.2) {{ a, e, g 1, { c, b 1, { b, e, f 1)

1.3) {{ a, b, e, g 1, { c 1, 1 d, f I}

1.4) {{ a, e 1, { b 1, { c,  d 1, 1 a, e 1, i f, g  I>
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